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BBERERED

3% () BEERE (E)
Avd | e | BER Avd | mes | RES
CNGV - CHGVH - CHGTHZS 25 FA LA5Y DR &

500L K i
LPG 1,040,883 1,586 10, 146, 985 11, 427
PG 13,531 25 189, 348 9,320
LG 31,786 0 484, 331 642
AG 4,450 10 18,324 1,764
LT 3,457 120 37,284 10, 202
LNGV 0 0 0 0
nL 0 0
(LDH ] 0
T Dl 261 255 679 275
fEnERAR | 11548 Tee[ | ____iLaeesi g0l
XEEEALE (h) 103.4 142.4
smgas | Tiseee4 [ 500881 _____________
MNETEBE AL (h) 103.5

500L 1A £ 1000L 5k
LPG 0 0 0 0
PG 674 0 6. 571 0
LG 484 162 6,947 4,019
LT 0 0 0 0
LnL 0 0
(LDH 0 0
2 i 0 0 58 3
E Tl oy N I - el | 156 ________ 7]
HETER AL (h) 11.4 63.1
I - E I -
HAERAL (b 13.6

1000LEL £
|LPG 162 620 6 11,924 6,708 403
IPG 0 0 0 375 280 0
LG 144 48 2 2,362 1, 607 14
LT 67 8 13 554 181 175
DL 0 0
(LDH 0 0
| £ Dt 0 0 0 62 16 0
ey S D CTE] 7] 1] (13727] R g9l 502
XEIERA L (h) 125.0 176.6 127.6
L@gas | _teo ______________ [ _aael _______________
XBIERALE %) 139.6
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3A% (@) BEFRH (B
Avd | me2s | RER Avg | kg% | RESR

CNGVE 3R R DR &
EnEgsst [R5 Y | ES op ________ 2,005 212 0f
WEERALL (h) 87.2 23.8 0.0
cNavEg SR .t . L 2,347 _______
HETEREA L (h) 66.7

CHGVHA R DO HER
EREsas L of - of .13 1] 0
WETERALE (h) 13.0 19.3 0.0
CHGVHEISSEt = 2 b 28
HBERAL %) 49.8

CHETHE R A DHRER
FERIESaE I ] of L o __________ a0 1]
HEERALL (%) 0.0 700.0 0.0
cHeTh@E®&st .} _____J L 22
HNEERALL (h) 366. 7

HBREEXRD



